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time allowed: 3.5 hours, plus 20 minutes to read the paper.
Section A - Answer Question 1; and
Section B - Answer any two from Questions 2,3 and 4.

Note: Should you provide answers to more questions than required in Section B, you must draw a clearly
distinguishable line through the answer not to be marked. Otherwise, only the first two answers to
hand will be marked.

CASE STUDY – Azorian

azorian plc is listed on the enterprise Securities market (eSm) in ireland.  the company owns a chain of
hotels which are spread throughout the republic of ireland.  it has come through the recent recession
relatively unscathed; this is due in part to the fact that its hotels are by and large well located.  the majority
of azorian’s hotels are located in dublin.  furthermore, it did not purchase any new hotels since 1997.
therefore, it did not overpay for any of its hotels in the boom, and also has relatively low borrowings.
nonetheless, its profitability was severely affected by the recession, with turnover being reduced significantly
over the period 2008-2011.  

azorian’s shares have traded on the eSm for a number of years and its ownership structure is such that only
three institutional shareholders own more than 1% of the firm.  about 80% of the shares of azorian are held
by institutional investors such as insurance companies, pension funds and hedge funds.  there are 50 million
shares in issue.  these currently trade at €5 each. the current azorian management team own about 10,000
shares.  azorian’s ceO, Bill hoskins, owns 8,000 shares, the vast majority of the management’s shareholding.
he does not hold shares in any other company, but he contributes to azorian’s staff pension fund.

the five largest shareholders are outlined in table 1.

Table 1
Largest Shareholders of Azorian

Investor’s Name and Number of Shares Owned
fickle hedge fund 1,585,000
Safety first pension fund 960,000
diversified international mutual 545,000
responsible & Sustainable fund 130,000
Well diversified irish Widowers 12,000

While business has improved since 2011, Bill hoskins feels that the hotel industry is rather cyclical and he
believes that azorian should diversify into at least one other business in order to reduce risk.   he argues that
no company should put all its eggs in one basket.   his current mantra seems to be “diversification can reduce
risk without sacrificing return: all businesses should diversify, it’s just common sense”.  

Bill has also noticed the emergence of craft breweries.  azorian is buying more and more beer, ale and stout
from such small local breweries.  the company is finding that its customers, both local and tourists alike, are
turning to craft beer instead of the produce of the large international drinks producers.  he reckons that with
additional restrictions on the advertising of alcoholic beverages the large companies will find it impossible to
continue their dominance of the industry.  thus there will be even more opportunities for artisan breweries in
the future.   he sees the purchase of a few artisan breweries as a method of expanding azorian and
simultaneously reducing risk.  “More profits and less risk, what could be wrong with that?”, he asks.

glytherdale plc is another irish company which amongst other things, controls four craft breweries:  St.
finbarr’s in cork, St. philbert’s in Waterford; St. ulick’s in dublin; dt’s in limerick.  the last named derives
its name from its famous blond beer, the devil’s tipple.  St. finbarr’s is best known for hairy harry’s, a strong



stout with 7% alcohol, which is very popular with corkonians.  St. philbert’s mainly brews a number of smooth
ales of which “the Stoat” is its bestselling brand.   St ulick’s main product is the well known Belgian blond
beer.

glytherdale’s breweries were all rather small in terms of turnover when purchased by the company.  they have
developed the markets for their products to the extent that they can no longer keep up with demand and
need to urgently expand their production facilities.  glytherdale’s primary interests, however, lie elsewhere.
the person who managed the brewery section of glytherdale’s business has since left the company.  robert
cramer, glytherdale’s ceO,  is not keen to recruit another specialist in the brewing industry.  all the craft
breweries have to be run as essentially independent companies since it is vital that they do not lose their
artisan status.  this is proving a bit of a problem for robert, and he is of the opinion that he does not have
the same level of control over the breweries as he has over the remainder of glytherdale’s business. the
breweries need some investment since there are significant economies of scale in the brewing industry and
they need to upscale to exploit their expanding market.  the need to run the four breweries as independent
businesses in order to maintain their craft status as mentioned above is also problematic.  glytherdale’s main
business involves running a chain of retail outlets.  the company has made the decision to focus on its main
business and is actively seeking a buyer for its breweries.

Bill hoskins meets robert cramer, ceO of glytherdale, to discuss the sale of the four breweries to azorian.
robert provides Bill with the 2015 audited financial statements and projected accounts for glytherdale’s
Brewery division from 2016 to 2019.  these are outlined in table 2.  robert explains that he reckons that the
craft beer sector will grow by 5% to 6% over the next couple of years.  however, the growth rate will settle
down to a long-run growth rate of 1% from 2018.  these growth rates are reflected in the projections outlined
in table 2.

robert cramer goes on to state that the Board of glytherdale reckons that the assets of its brewery division
are worth about €600 million (although their book value is only €130 million).  With debts of €40 million, he
reckons that glytherdale would accept an offer in the region of €560 million for the division.   robert explains
that this rather high market-to-Book ratio for the breweries stems from their growth prospects.  a few days after
the meeting with cramer, Bill hoskins reports back to his board.  he requires the approval of the board before
any offer can be made to purchase the brewery division of glytherdale.  details of azorian’s board are outlined
in table 3.

Table 2
Income Statements to 30 June in €000’s

2015 Audited 2016 2017 2018 2019
Sales 200,000 212,000 222,600 229,278 231,570
Operating expenses 180,000 190,800 191,436 201,765 203,782
Operating income 20,000 21,200 31,164 27,513 27,788
interest 1,800 2,000 3,400 3,300 3,300
profit Before tax 18,200 19,200 27,764 24,213 24,488
taxation 2,275 2,400 3,470 3,027 3,060
net profit after tax 15,925 16,800 24,294 21,186 21,427
dividends 10,000 10,000 10,000 12,000 12,000
addition to equity 5,925 6,800 14,294 9,186 9,428

Balance Sheet as at 30 June in €000’s
2015 Audited 2016 2017 2018 2019

fixed assets 90,000 120,000 133,560 137,567 138,942
net current assets 40,000 42,400 44,520 48,148 48,630
Operating assets 130,000 162,400 178,080 185,715 187,572
cash 0 2,400 (986) 565 2,135
net assets 130,000 164,800 177,094 186,280 189,708
Shareholders’ equity 90,000 96,800 111,094 120,280 129,708
debt 40,000 68,000 66,000 66,000 60,000
total financing 130,000 164,800 177,094 186,280 189,708
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Table 3
Azorian Board of Directors 

Bill Hoskins ceO for the past 15 years; has worked in the hotel industry since he
was 18. he is now 49 years old.

Bertram McKenzie (British) chairman, former banker and board member of See Scotland; 60
years of age.

George Gilhooley (Northern Ireland) ned,  chief operating officer of a large Belfast hotel;  50 years old.

Brian Pitt, BComm, CPA ned, partner in pitt & co., certified public accountants; 48 years
old.

David D’Arcy ned, celebrity chef and owner of a famous dublin restaurant; 38
years old.

Terence Michael ned, founder of michael travel which he recently sold to a British plc;
52 years old.

Humphrey Bolger, BE, MBA, ned, founder and former ceO of Bolger engineering; now ned on
another irish plc quoted on the main market as well as of azorian; 55
years old.

the board has three committees.  the audit committee is comprised of messrs pitt (chair) and Bolger; the
nomination committee comprises messrs michael (chair), mcKenzie and gilhooley; the remuneration
committee is comprised of humphrey Bolger (chair) and terence michael.

the board of azorian listens to Bill as he outlines the merits of the takeover.  Bill waxes lyrical about an
exciting new era for azorian and the tremendous growth prospects in the craft beer industry.  another factor
that he stresses is that the beer production will make azorian more diversified and reduce its risk.  “If we stick
with hotels we will not achieve the growth required by shareholders”, Bill declares.   he goes on to explain
that there are so many hotels in ireland at the moment that there is no room for expansion here.   he points
out that expanding to say, the uK, would entail additional risks including foreign exchange risk.   he stands
up and declares to the board “the purchase of the breweries not only delivers much needed growth but actually
reduces risk as well”.  the board listens carefully to Bill and decides to call in azorian’s auditor, fred falstaff,
cpa to value the breweries to see if they are worth the €560 million asking price.

fred falstaff, establishes that the accounts and projections for the breweries are reasonable.  he further
confirms that the brewing industry is of average systematic risk, so the equity beta of a brewery can be
approximated by the average beta of all stocks.  the market risk premium [e(rm)– rf] is 4.5% and the risk
free rate of interest is 0.6%.   azorian’s beta is 1.1.

END OF CASE STUDY
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SECTION A - Compulsory Question.

Explain fully all statements and assumptions made in arriving at your answers.

1.
REQUIREMENT:
You are required to prepare a report in which you:
(a) carry out a valuation of the brewery division of glytherdale based on the projections outlined in table 2 and

the information gleaned by fred falstaff.  advise the board as to the most appropriate strategy based on
your valuation.

(30 marks)

(b) Justify why you did or did not make an adjustment for corporation tax when computing the cost of capital for
the breweries project.

(15 marks)

(c) robert cramer explains the difference between what he perceives as the market value for glytherdale’s
breweries and their book value in terms of their growth prospects.  discuss how the market-to-book ratio of
a business is related to its expected growth rate.

(5 marks)

[Total: 50 Marks]

SECTION B – Answer only 2 questions from this section

2. 
REQUIREMENT:
(a) Outline the main principles of diversification i.e. how diversification can reduce risk without sacrificing return.

(5 marks)

(b) Bill hoskins seems well aware of the principles of diversification.  discuss the extent to which Bill appears
to be diversified on a personal level?  advise him on how he might further diversify his holdings of financial
assets justifying the most efficient methods of achieving risk reduction. 

(10 marks)

(c) critically assess whether the diversification provided by purchasing a business in a different industry is a
good reason for azorian to acquire the breweries? 

(10 marks)

[Total: 25 Marks]

3. 
REQUIREMENT:
(a) critically analyse the merits (or otherwise) of the board of directors of azorian in terms of effective corporate

governance,  on the basis of the information outlined in the case.
(13 marks)

(b) detail the additional information that you should now like to know in order to make of full assessment of the
overall standard of corporate governance in azorian.

(12 marks)

[Total: 25 Marks]



4.
REQUIREMENT:
assume that the takeover deal goes ahead, as suggested by Bill, and that both azorian’s and glytherdale’s shares
are correctly valued by the market prior to and after the takeover.

(a) critically evaluate Bill’s argument that the purchase of hotels in the uK increases risk and thus is  an inferior
alternative to the purchase of breweries in ireland.

(10 marks)

(b) in terms of mergers and acquisitions how should you classify the brewery project from the perspective of
both azorian and glytherdale?

(5 marks)

(c) a supplementary reason for the takeover of the four breweries by azorian as espoused by Bill is the
prospects for growth it provides.  critically evaluate the achievement of ‘growth’ as an objective of a
business in general and azorian in particular.

(10 marks)

[Total: 25 Marks]

END OF PAPER
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STRATEGIC CORPORATE FINANCE
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SOLUTION 1

Solution to azorian

note: these solutions contain a tutorial element so it is possible for students to get full marks in a question or part
thereof without covering all the material below.

(a) first we must compute the cost of capital for the Brewery takeover.  the relevant cost of capital must be
that pertaining to the Brewery business which we are told has an average beta i.e. β = 1.

We will take the market value of equity to be €560 million and that of debt to be equal to its book value of
€40 million.

calculation of the cost of capital for Breweries

here debt adjusted for corp. tax here debt is not adjusted for corporate tax
rf 0.6 rf 0.6
Beta 1 Beta 1
rm-rf 4.5 rm-rf 4.5
cost of equity 5.1 cost of equity 5.1

cost of debt*(1-t) 3.5 cost of debt 4

market Value of equity 560 market Value of equity 560
Value of debt 40 Value of debt 40
Value  of Breweries 600 Value  of Breweries 600

e/V 0.933 e/V 0.933
d/V 0.067 d/V 0.067

Wacc 4.993 Wacc 5.027

e/V*Ke 4.760 e/V*Ke 4.760
e/V*Kd(1-t) 0.233 e/V*Kd 0.267
Wacc 4.993 Wacc 5.027

from the above the cost of capital for the project or Wacc is equal to 5%.  remember that in reality were
are estimating the cost of capital.  it is not a figure which is known as such.  the precision of our estimate
is not likely to be about to distinguish between 4.8% and 5%.   using 4.8% would be a signal that a person
did not appreciate the variability of the estimate.

We next compute the free cash flow and discount it at 5%.  note the terminal growth rate is 1% as outlined
in the question and reflected in the projections.
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computation of free cash flow

Operating income after tax 18,800 27,694 24,487 24,727
ΔnOa 32,400 15,680 7,635 1,857
free cash flow (Oi - ΔnOa) -13,600 12,014 16,852 22,870

cash flow Statement
dividends 10,000 10,000 12,000 12,000
increase (reduction)in cash 2,400 -3,387 1,552 1,570
reduction (increase) in debt -28,000 2,000 0 6,000
interest on debt 2,000 3,400 3,300 3,300
fcf -13,600 12,014 16,852 22,870

fcf -13,600 12,014 16,852 22,870
discount factor 1.050 1.103 1.158 1.216
dfcf -12,952 10,897 14,557 18,815
terminal Value 577,475
pVdfcf to 2019 31,317
pVtV 475,090
enterprise Value 506,406
Value of debt 40,000
Value of equity 466,406

Operating income aft tax 18,800 27,694 24,487 24,727
capital charge 6,500 8120 8,904 9,286
reOi 12,300 19,574 15,583 15,442
discount factor 1.050 1.103 1.158 1.216
discounted reOi 11,714 17,754 13,461 12,704
tV 389,902
pV of reOi to 2019 55,633
pV of tV 320,774
Book Value 90,000
Value of equity 466,406

We note that the value of equity is only about €466.5 million.  this is substantially less than the amount that
robert cramer is looking for.  

Our advice is nOt to purchase the breweries.  We would suggest that the project should not be proceeded
with at all since there are other aspects of it which cause some concern.  for example the lack of experience
of azorian in Brewing and the motivation for the purchase.

(b) if no adjustment was made to the cost of debt for taxation this could be justified on the basis that:

1. the corporation tax rate in ireland is so low it will not provide a large tax shield

2. it is difficult to justify adjusting for one market imperfection (corporate tax rates) and not making
allowances for other such as non-debt tax shields, personal tax rates, bankruptcy costs, agency
issues etc.

3. there may be some capital allowances for the capex projected to be undertaken in 2016; 2017
which will reduce the need for the tax shield provided by debt.

4.   if the gearing ratio was greater this would still not make much of a difference – if it were very high one
would really have to consider bankruptcy costs.  taking a high debt to equity ratio of  100% (d/V =
0.5) we would get the following Wacc with and without taxes.  
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calculation of the cost of capital for Breweries

here debt adjusted for corp. tax here debt is not adjusted for corporate tax

rf 0.6 rf 0.6
Beta 1 Beta 1
rm-rf 4.5 rm-rf 4.5
cost of equity 5.1 cost of equity 5.1

cost of debt*(1-t) 3.5 cost of debt 4

market Value of equity 300 market Value of equity 300
Value of debt 300 Value of debt 300
Value  of Breweries 600 Value  of Breweries 600

e/V 0.500 e/V 0.500
d/V 0.500 d/V 0.500
d/e 1.000 1.000
Wacc 4.300 Wacc 4.550

e/V*Ke 2.550 e/V*Ke 2.550
e/V*Kd(1-t) 1.750 e/V*Kd 2.000
Wacc 4.300 Wacc 4.550

if d/e were higher than (100%) whatever small tax advantage to debt could potentially be eroded.

if the above  were our calculations i believe we would set the cost of capital at 4.5% regardless.  this is
especially so since a d/V ratio would have further costs (bankruptcy; higher Kd in the future) associated with
them

if one wished to argue for the taxation adjustment one would make the following points.

1. the gearing is low so bankruptcy and other costs of debt are unlikely to be factors.  

2. it is clear from the projections that the company is expected to be profitable and will ultimately have
to pay tax regardless of capital allowances.

3. it is standard practice to make this adjustment.

(c) the market to book ratio (mtB) is simply the market value of equity divided by the book value of equity.
Stocks with high mtB ratios are often termed growth stocks since the reason that their equity values exceed
their book values is that their earnings and book values are expected to grow in the future.

the mtB ratio is related to the p/e ratio as follows:

note m is just p multiplied by the number of shares in issue; e stands for epS; B stands for book value in
the mtB ratio and Book-value per share in the rOe.  Sometimes mtB is called the price to book ratio.

the mtB ratio is the p/e ratio multiplied by the current return on equity.  Stocks with high p/e ratios will
generally have high mtB ratios – but the rOe can have an effect as well.   if a stock has a very low rOe
it can have a high p/e but a moderate mtB.  this is because the p/e reflects growth relative to current
earnings.  

the mtB ratio depends on the level of future earnings relative to normal earnings or book value times the
cost of capital (rBt-1).   the level of normal earnings (rBt-1) and a company’s ability to exceed it depends on
a) the cost of capital and b) how conservative the balance sheet book value (Bt-1) is.  if the balance sheet is
very conservative clearly book values will be much less than market values and the present value of
residual income (pVri) will be positive.  to explain this fully one can use the residual income valuation
model (riVm).  
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the residual income valuation model can be used to explain how the mtB ratio depends on the present
value of residual income (pVri).   thus the value of firms with high mtB ratios will depend mainly on the
present value of expected residual income or abnormal earnings.  On the other hand the value of firms with
low mtB ratios will depend more on assets in place.

to explicate this fully we begin with a basic finance model: the present value of expected dividends (pVed)
model pt = .  Second we assume clean surplus accounting, that is the change in equity book
value is simply retained earnings.  more formally xt – dt = Bt – Bt - 1.  We can then substitute for dividends [dt

= xt - (Bt – Bt - 1) or earning minus retained earnings] in the pVed equation to get (after algebraic
manipulation)

note residual income: rit = et - rBt - 1

et is earnings

r is the cost of capital and 

Bt - 1 is opening book value

is the present value of residual income (pVri)

We can rewrite the equation showing that value depends on assets in place (Bt) and the present value of
expected residual income. 

pt = Bt +  pVri

this equation states that the price to book ratio (mtB) is equal to 1 plus the present value of future residual
income divided by its current book value.

for a mtB of 1 pVri = 0 and price (market value) equals book value.

for an mtB > 1 pVri is positive – the market expects high earnings (positive ri) in the future and this is
reflected in the value of the stock.

for an mtB < 1 pVri is negative – the market expects low earnings (negative ri) in the future.

(marking notes – i don’t expect many of the students to use the riVm so i will only allocate 1 mark for this:
i am mainly interested in the expected growth versus assets in place aspect of the mtB ratio: market value
reflects the future and book values the past and what it tells us about the future)
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SOLUTION 2

(a) Brief recap on portfolio theory by way of a tutorial for students

from a perusal of the capital markets we note that investors do not hold securities in isolation.  they tend
to hold a number of securities in different companies at the same time i.e. they hold portfolios.  a portfolio
is simply a holding of a number of different securities.  Why do investors do this? it can be shown that by
diversifying one's wealth across a number of different securities one can reduce risk (variance of returns)
without sacrificing expected returns.  intuitively we have a situation where some securities in a portfolio will
be doing well while others will be doing badly.  this will dampen down (reduce) the variability in the portfolios
returns. to explore this further we need to know how the variance of a portfolio is calculated.

the crucial inputs into the calculation of the variance or risk of a portfolio are the correlation coefficients
between the securities that comprise the portfolio and the number of securities in the portfolio.

typically investors will have more than two shares in their portfolios.  it can be shown that provided that the
shares are not perfectly positively correlated (i.e. ρ = 1) the greater the number of shares the lower the risk
of the portfolio.  however the risk reduction from diversification is a diminishing function of the number of
shares in the portfolio (see figures 1 and 2).  that is adding an additional share to a randomly chosen ten
security portfolio is likely to reduce the risk of that portfolio by more than that achieved by adding the same
security to a randomly chosen 100 security portfolio.  this is because the extra share will almost certainly
be more highly correlated with the larger portfolio . 

Figure 1

figure 1, above, is drawn on the assumption that the securities in the portfolio are uncorrelated i.e. there is
no relation between their returns.  in reality shares in a stock market will have some degree of positive
correlation with each other.  this is due to macroeconomic factors that affect all shares.  however, each will
be affected differently.  for example all shares are adversely affected by a rise in interest rates.

diversification will tend to eliminate the risk pertaining  individual company circumstances.  the risk of a
large well-diversified portfolio will depend more on general business conditions rather than the prospects of
any individual share.  all shares are affected by general economic conditions so any share is likely to be
more highly correlated with such a portfolio than with a ten-security portfolio.  
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Figure 

the calculations behind figures 4 and 5 can be illustrated by examining the variance-covariance matrix of
the portfolio.

the variance of an n-security portfolio can be computed by adding the “boxes” in the following matrix.  the
shaded diagonal boxes represent variance terms and the off-diagonals represent covariances.
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in terms of an equation adding the boxes is:

if we assume that we have an equal amount invested in each asset, i.e.
xi and xj = 1/n the following can be derived
it is clear from the above that as the size of the portfolio increases (n gets larger) the variance of the portfolio
approaches the average covariance between all the assets in the portfolio.  this is illustrated in figure 2.

(b) Bill has a one security portfolio, azorian.  to make matters worse he has all of his human capital tied up n
azorian.  however, it should be noted that he is contributing to a pension fund.   this is likely to be well-
diversified so depending on the level of his pension fund and how diversified it is he may not be too badly
off at all with respect to diversification.  We would really need to know if the azorian pension fund had
invested in any hotels or the tourist industry.

it would appear however from the case that Bill feels a bit under-diversified.  he and especially glytherdale
would be the beneficiaries of the takeover of the breweries by azorian

the main issues that Bill should consider in constructing his portfolio: 

1. the number of shares in his portfolio

2. the correlations between the returns on the shares in the portfolio

a more efficient method for Bill to achieve more diversification would be to invest in a mutual fund or an
exchange traded fund (etf) rather than purchase shares directly himself.   the mutual fund or etf
purchase gives him a full portfolio for a modest cost.  the etf would have the lowest costs.  however, the
purchase of shares directly would allow Bill to fine tune his risk better.   for example, he could avoid
investing in the hotel business entirely if he constructed his own portfolio.   this might be more difficult if he
invests into a fund that someone else is managing.  What he needs to achieve is diversification away from
his human capital which is totally connected to azorian and hence the hotel business.  he can achieve this
by purchasing shares in business that have very low correlations with the hotel business.  a simple way of
doing this is to purchase shares in industries which are unrelated to hotels e.g. pharmaceuticals, chemicals,
engineering etc. this stratifying his portfolio by industry will ensure that he is investing is stocks with low
correlation coefficients without having to estimate these correlations.  he should also purchase shares in
non-irish companies since non-irish companies will have lower correlations with an irish hotel.  note he can
purchase eurozone companies and not take on any fx risk while diversifying abroad.   

(c) conglomerate diversification is not a good reason for a takeover.

there are two essential points to be made in answering this question.

1. firms usually have to pay a premium for control.  So it will be more expensive for a firm to purchase
another firm than for the shareholders of the purchasing firm to buy some shares in the target firm.

2. the shareholders of azorian are generally institutions who will be well-diversified.  they don’t need
azorian to do something for them that they could do more cheaply themselves.

3. a minor supplemental point is that azorian has no expertise in the Brewing industry so it is difficult to
see how they can add any value with the takeover of the breweries.
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SOLUTION 3

(a) the purpose of the board of directors is to monitor management on behalf of the shareholders.  the
management are there to run the company: good corporate governance is there to ensure that the company
is run properly in the interests of the shareholders (stakeholders?).  for the board of directors to contribute
to good governance it must be represent the shareholders and be independent of management.

azorian’s board is well structured in the following respects

1. it has a majority of independent neds 

2. there is ceO/chair duality

3. it has a good diversity of professions

4. it has good industry experience

5. its committee structure appears sound

a. three crucial committees

b. audit committee is independent and has financial expertise.

c. the other committees are independent or the majority independent.

6. the board is not too large or too small.  large enough for a diversity skills small enough for good
communication.

however it is noted that the board has no female member.  it does not reflect diversity with respect to
gender.

(b) remaining with the board for the time being i would like to have information on the following:

1. the number of times it and the committees met.

2. the attendance of each of the board members.

3. the length of time each of the members has been on the board (after a period their independence
wanes).

4. details of their remuneration and how they are remunerated.

5. detail of their contracts.

6. Who is the senior independent director?

7. any business dealings the neds have with azorian.

corporate governance goes beyond the board of directors.  Other matters pertaining to corporate
governance that i would be interested in finding out about are:

1. the remuneration of Bill hoskins: structure and amount

2. the market for corporate control in the hotel industry in ireland

3. What is the market like for managers of hotels (the managerial labour market)?

We know that the management do not have many shares in azorian so there is a clear separation of
ownership from control.

We also know that by and large the shareholders each have a relatively small stake in azorian so there may
be a free rider problem when it comes to monitoring: the board should help here.

We know that the leverage is low so that there will not be much if any monitoring by the banks.
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SOLUTION 4 

(a) Bill is referring to the exchange risk here which would be occasioned by having hotel assets denominated
in sterling.

however, to the extent that the tourist industry in ireland and hence at least some of azorian’s customers
are already based on non-euro areas azorian is already subject to fx risk.  in fact it could be argued that
having some sterling denominated assets may give some diversification of currency.

What would change is the nature of the fx risk.  at  the moment azorian is subject to long-term operating
fx risk.   this refers to the price competitiveness of its product.  So if sterling becomes weak relative to the
euro uK – based people find it more expensive to holiday in ireland:  uS citizens will find that the uK
becomes a more price competitive destination for their european holiday.

having a chain of uK hotels would be different in that there would be translation exposure for the balance
sheet.  But the ex-ante version of translation exposure would also be new – azorian would have assets
whose euro value could vary with the exchange rate with sterling.

(b) from the perspective of azorian the brewery project is conglomerate diversification

from glytherdale’s perspective it is a spin-off.

(c) growth in profits, cash flows, dividends and asset values is good.   the reason that such growth is good is
that it is an indication of value.  the fundamental objective of the firm is to maximise shareholder value and
it achieves this by maximising its own value.

however, there are dangers when acquiring another company.  When you are acquiring a company
sometimes as in the azorian case you will pay for growth and you have to be careful that you do not pay
too much.   it is clear from the projections that the breweries are growing though the rate tampers off to a
mere 1% after two years.   acquiring the breweries will certainly deliver growth for azorian but it is a poor
investment.  growth is not the primary objective of a business: maximising shareholder value is.  growth is
just an indication of value creation.  it is clear from the valuation of the breweries that they are overpriced
at €560 million: this is the first reason that they are a poor investment.  azorian would by paying too much
for the growth it acquired.   the people who would exclusively gain from the increase in value the is derived
from the growth in the breweries are the shareholders of glytherdale.

the second reason that they are a poor investment is that diversification is something that azorian’s
shareholders can do more cheaply and easily themselves.  thus the takeover would destroy shareholder
wealth.
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